
25/10/23 MATH2O5OATutorial Planning
ReaDef: (Xn) bandedsequence .

I imp x= in *n= in Xm "max of tail"

2) If In a -meth .

"him oftail?

TFAE :

head part of the
tailof the sequence

:

x= linsup xn sequence -n- e
· for 3x0 ,

there are atmost finitely many us is . x+3 <Yu but infinitely many a s.
t . x-2<xn -

· x= mfV where V= [VER :

~ xn for at most finitely many n3 .

x= supS where S-SSER: = lim
n-xYur for some (nm3 .
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the : Forabonded Sequence (n) , x

converges
if hisxn- trif xn

E : 1) = (-1)". & & - 8 · insupXnt) , higufynt
S

...

: alternate terms ofthe sequences (1) , (ii) to obtain the sequence (in) guienby
(2, -1, ,

-2
,
/

,
... ) -

Determine the values of linsup xn and limin xn . also sup[xn], inf[xn5 .

of : Since in Ith
, hisupxn- Ith=1 . Supxn= 2n4

limit Xn= lin - 8
.

infxn=-1 .

n-0 h4
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(2)
, (yn) bounded sequences . Then

limsup (xn+yn) < linsup(n) + linsup(yn) ·
Give an example where thetwo sides are notequal .

P :

uplntyn)
: Let > linsup(xul ,

us linsuplyn) .
The there are atmost

-

funtelymany In s -t . Xu) r
,
at most finitely many yusot . Yu? n .

Then there are at
n

funtemost by may uset . Intyns Utu .

⑰ (4)
Then linup (an+yu)V+U . Then megot himp (Antyn) thi xet himsy
Take v= emspxn+9 ,

U= disp But s ,
then 1)means himp (utyn)= him xntdisyut23 .I Since this istimeforall 20, meget (44) :

C
.

Strictexample
: Wi=El)", yu= (14

+.

Then xniyn=
8

,
So linsup (tyn) =0 , disp *= /

, thyn=1 . 8 cy,


